

$f(x) = \begin{cases} \cot \frac{\pi}{x} & ; x \leq 1 \\ \sqrt{x^2 + 1} & ; x > 1 \end{cases}$ $f(f(\frac{1}{2})) = ?$ $f(x) = \cot \frac{\pi x}{x} = \cot \frac{\pi}{1} = \cot \pi = \infty$ $f(\frac{1}{2}) = \cot \frac{\pi}{2} = 0$ $f(f(\frac{1}{2})) = f(0) = \cot \frac{\pi}{0} = \infty$ $f(\sqrt{2}) = \sqrt{(\sqrt{2})^2 + 1} = \sqrt{2+1} = \sqrt{3}$ $f \circ f(\frac{1}{2}) = 2$	۱
$g(x) = x \cos x$ $f(x) = \sqrt{\frac{x-1}{x}}$ $f(g(\frac{\pi}{2})) = ?$ $g(\frac{\pi}{2}) = \frac{\pi}{2} \cos \frac{\pi}{2} = 0$ $f(0) = \sqrt{\frac{0-1}{0}} = \sqrt{-\infty} = \infty$ $f \circ g(\frac{\pi}{2}) = \infty$ $f(x) = [x]$ $f(g(\frac{1}{2})) = ?$ $g(\frac{1}{2}) = \frac{1}{2} \cos \frac{1}{2}$ $f(g(\frac{1}{2})) = [g(\frac{1}{2})] = 0$ $f \circ g(\frac{1}{2}) = 0$	۲
$f(x) = \sin x$ $g(x) = \sqrt{1-x}$ $f(\frac{\pi}{2}) = \sin \frac{\pi}{2} = 1$ $g(1) = \sqrt{1-1} = 0$ $f \circ g(\frac{\pi}{2}) = f(0) = \sin 0 = 0$ $g(f(\frac{\pi}{2})) = g(1) = 0$ $f \circ g(\frac{\pi}{2}) = 0$	۳
$f(g(x)) = \{(x, y), (x, z), (y, x), (z, x)\}$ $g(x) = R_f \notin D_g$ $f(f(x)) = R_f \notin D_f$ $g(g(x)) = \{(x, y), (x, z), (y, x), (z, x)\}$	۴
$f(x) = \sin x$ $g(x) = \sqrt{1-x}$ $f(\frac{\pi}{2}) = 1$ $g(1) = 0$ $f \circ g(\frac{\pi}{2}) = f(0) = 0$ $g(f(\frac{\pi}{2})) = g(1) = 0$ $f \circ g(\frac{\pi}{2}) = 0$	۵

$$f(f(n)) = fn + r \quad f(n) = an + b \quad \frac{n-an+b}{a} \quad a(an+b)+b = fof$$

$$an + b + b = fn + r$$

$$\left\{ \begin{array}{l} f(f(n)) = an + b + b = fn + r \\ f(f(n)) = fn + r \end{array} \right.$$

$$gof(-1) = -1$$

$$ar = r \quad a = \pm 1 \quad r = \dots \quad fn + b = fn + r \quad b = 1 \quad f(n) = r + 1$$

$$g(f(n)) = rn - r$$

$$g(n) = \frac{rn - r}{r}$$

$$b = -r \quad g(f(n)) =$$

$$f(n) = \sqrt{n+1}$$

$$g(n) = \frac{1}{n^2 - n} \quad \frac{n - \sqrt{n+1}}{(n - \sqrt{n+1})^2 - (n - \sqrt{n+1})}$$

$$D_{gof} = (0, +\infty) - \{1\}$$

$$I = n \neq 1 \quad II = n > 0 \quad III =$$

$$g(f(n)) \Rightarrow g(f(n)) = \frac{1}{(\sqrt{n+1})^2 - (n - \sqrt{n+1})}$$

$$D_{gof} = \sqrt{n+1} > 0 \quad n+1 > 0$$

$$n > 0 - n > 0 \quad n > 0 \quad n < 0 \quad n < 0$$

$$II = (\sqrt{n+1})^2 - (n - \sqrt{n+1}) \neq 0 \quad \sqrt{n+1} (\sqrt{n+1} - n + 1) \neq 0$$

$$g(n) = \sqrt{n} \quad f(n) = \sqrt{1-n} \quad D_g = [0, +\infty) \quad D_f = [0, 1]$$

$$D_{f \circ g} = \{n \in D_g, f(n) \in D_f\}$$

$$f \circ g(n) \Rightarrow f(n) = \sqrt{1-n} \quad R_f = [0, 1] \quad D_{f \circ g} = [-1, 1]$$

$$f(n + \frac{1}{n}) = n^2 + \frac{1}{n}$$

$$n + \frac{1}{n} = (n + \frac{1}{n})^2$$

$$f(n + \frac{1}{n}) = n^2 + \frac{1}{n} + n + \frac{1}{n} + n + \frac{1}{n} - n + \frac{1}{n} = n^2 + \frac{1}{n}$$

$$f(n + \frac{1}{n}) = n^2 + \frac{1}{n} \Rightarrow f(n) = n^2 + \frac{1}{n}$$

$$\frac{n+1}{n-r} = e \quad en - re = n+1 \quad en - rn = r+1 \quad n(e-r) = r+1 \Rightarrow n = \frac{r+1}{e-r}$$

$$f(t) = \frac{r+1}{e-r} + \omega$$

$$f(n) = \frac{r+1}{e-r} + \omega$$

$$g(1) = 0 \quad g(r/r) = 0$$

$$f(n) = n \sqrt{n}$$

$$g(f(n)) = 0 \quad f(n) = 1 \Rightarrow n \sqrt{n} = 1 \Rightarrow n^3 = 1 \Rightarrow n = 1$$

$$II \quad f(n) = r \sqrt{r} \Rightarrow n \sqrt{n} = r \sqrt{r} \Rightarrow n^3 = r^3 \Rightarrow n = r$$

$$gof(1) = 0, gof(r) = 0$$

$$r-1=1 \quad r-1=-1$$

$$\boxed{r=1}$$